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English Part Solution

01. The analogy of FOOD: GOURMET is
(a) Book: Critic

(b) Art: Connoisseur

(c) Sports: Fan

(d) Craft: Skill

Ans: b

02. The analogy of CONFIDENT: HAUGHTY is
(a) Diminished: Forsaken

(b) Liberal: Brusque

(c) Provident: Penurious

(d) Autonomous: Subordinate



Ans:c

Explanation:

The relation is of 'degree or extent'

Extreme (negative) degree of confident is haughty
Extreme (negative) degree of provident is penurious
Vocabulary notes:

We know that, provident usually means judicious, but its secondary meaning is frugal; and
penurious usually means extremely poor, but its secondary meaning is parsimonious.
03. Mercenary: Money

(a) Vindictive: Revenge

(b) Scholarly: Library

(c) Immaculate: Cleanliness

(d) Thirsty: Water

Ans: a

04. Lullaby: Song:

(a) Narrative: Volume

(b) Diatribe: Discourse

(c) Lecture: Tutor

(d) Invective: Complement

Ans: b

05. REPTILE is to LIZARD as FLOWER is to

(a) Petal

(b) Stem

(c) Alligator

(d) Daisy

Ans: d

(a) Courage, Hero

(b) Flaw, Perfection

(c) Chapter, Novel

(d) Classroom, Teacher
Ans: a
07......creates......

(a) Mechanic, Wrench
(b) Moan, Pain

(c) Poet, Sonnet

(d) Virus, lliness

Ans: c

08. Antonym of the word EXTEMPORE is
(a) Spontaneous

(b) Unplanned

(c) Unrehearsed



(d) Rehearsed

Ans: d

09. Antonym of the word JOCOSE is
(a) Diseased

(b) Playful

(c) Dull

(d) Humorous

Ans: c

10. The antonym of the underlined word in the sentence "The place was indeed grotesque"
is-

(a) Good

(b) Decent

(c) Filthy

(d) Congruous

Ans: b

11. The antonym of the underlined word in the sentence "All his neighbor is aware of his
acrimonious nature" is-

(a) Informal

(b) Sympathetic

(c) Cooperative

(d) Charitable

Ans: c

12. Synonym of the word SPURIOUS is
(a) Cursory

(b) Sham

(c) Disparate

(d) Passing

Ans: b

13.Synonym of the word MOOT is

(a) Controversial

(b) Invisible

(c) Obsequious

(d) Unexpected

Ans: a

14. Her......should not be confused with miserliness; as long as | have known her, she has
always been willing to assist those who are in need.
(a) intemperance

(b) intolerance

(c) frugality

(d) diffidence

Ans: c



15. In his short story, the author depicts the complexity of modern life and the................ of
modern man.

(a) picture

(b) predicament

(c) inclinations

(d) life

Ans: b

16. He has been very indulgent.............. his children.

(a) to

(b) of

(c) by

(d)in

Ans: a

17. Passengers are not allowed to use cell phones......airplanes.

(a) with

(b) at

(c) of

(d)on

Ans: d

18. Which one of the following sentences is correct?

(a) I don't like discussing politics.

(b) 1 don't like to discuss about politics.

(c) I don't like to discuss politics.

(d) 1 don't discussing in politics.

ans: a

Explanation:

a. In Cliffs TOEFL, we can see that some verbs including like, love, hate prefer etc can be
followed

by either gerund or infinitive.

b. If we dig deeper, in Cambridge dictionary, we find the following:

1. To express emphasis on the experience/ action, we should use gerund after like.
For example,

| like making jam.

2. To express a habit or preference, we should use infinitive after like.

For example,

We have a lot of fruit in the garden. | like to make jam every year.

c. As discuss is a transitive verb, we cannot use ‘about’ (a preposition) after it.
My guess: The examiners probably did not think as deeply as we discussed. As given in
most

websites, they might take ‘option A’ as the correct answer.

19. Which underlined part of the following sentence has an error?

He gave me a ticket so that | may visit the book fair.



a) gave me

b) so that

c) may visit

d) the

ans: c

20. Select substitute word for the sentence:

‘Persistent high inflation combined with high unemployment and saturated demand in an
economy.’

(a) Recession

(b) Depression

(c) Stagflation

(d) Stagnation

ans: c

21. Select substitute word for the sentence:

‘Of the relationship between a trustee and his principal'.
(a) Feudal

(b) Trust

(c) Agent

(d) Fiduciary

ans: d

(
(
(
(

22. Find the odd word from the given options.
(a) Obscure

(b) Limpid

(c) Diaphanous

(d) Crystalline

Ans: (a) Obscure

23. Find the odd word from the given options.
(a) Strident

(b) Discordant

(c) Dulcet

(d) Guttural

Ans: (c) Dulcet

24. The passive form of the sentence: 'He won't give you any chance.'
(a) You won't be giving any chance.

(b) You won't be given any chance by him.

(c) No chance won't have given him by you.

(d) Any chance won't have given him by you.

Ans:(b) You won't be given any chance by him.

25. The passive form of the sentence: ‘Did the boy catch a bird?’



(a) Was a bird catching by the boy?

(b) Was the boy caught by a bird?

(c) Did the bird was caught by the boy?
(d) Was a bird caught by the boy?

Ans: (d) Was a bird caught by the boy?



